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Section A I Very Short Answer Type Questions

1. Find the value of aif

 represents a circle

and also find its radius

W h Vid S l i

2x2 + ay2 − 3x + 2y − 1 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1zPPohsFpeqg


Watch Video Solution

2. If the length of the tangent from  to 


the circle  is 1 the n find k.

Watch Video Solution

(5, 4)

x2 + y2 + 2ky = 0

3. The length of the common chord of the two

circles 

is

Watch Video Solution

(x − a)2 + (y − b)2 = c2, (x − b)2 + (y − a)2 = c2

https://dl.doubtnut.com/l/_1zPPohsFpeqg
https://dl.doubtnut.com/l/_wf4Cs6G1aiyU
https://dl.doubtnut.com/l/_nh4hFvJLtdvh


4. Find the coordinates of the points on the

parabola  whose focal distance is .

Watch Video Solution

y2 = 2x
5

2

5. Define rectangular hyperbola and find its

eccentricity.

Watch Video Solution

6. ∫
2

1

dx =
ex(1 + x logx)

x

https://dl.doubtnut.com/l/_YxaRckKfAyFv
https://dl.doubtnut.com/l/_iARyIdF5k6Ot
https://dl.doubtnut.com/l/_AyNk9r8aCnjz


Watch Video Solution

7. 

Watch Video Solution

∫ dx, x ∈ R.
sin(tan− 1 x)

1 + x2

8. Evaluate 

Watch Video Solution

π / 2

∫

0

sin5 x cos4 xdx

https://dl.doubtnut.com/l/_AyNk9r8aCnjz
https://dl.doubtnut.com/l/_JGRHiKhIL4dY
https://dl.doubtnut.com/l/_Qnntb5CWOU30


Section B Ii Short Answer Type Questions

9. Evaluate the following integrals 

(ii) 

Watch Video Solution

∫
2

0

|1 − x|dx

10. Form the differential equation corresponding

to  where A and B are

parameters.

Watch Video Solution

y = A cos 3x + B sin 3x,

https://dl.doubtnut.com/l/_vFc2p2icSwJB
https://dl.doubtnut.com/l/_ADSnNlHUkfii


1. Find the equation of the circle whose centre 

lies on the X- axis and passing through 

and 

Watch Video Solution

( − 2, 3)

(4, 5)

2. If x + y = 3 is the equation of the chord AB of

circle  find the

equation of the circle having  as diameter.

Watch Video Solution

x2 + y2 − 2x + 4y − 8 = 0,

¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_JmY2P7wNj6AO
https://dl.doubtnut.com/l/_1xHDBe4YjRmU


3. Find the equation of the tangent and normal

to the ellipse  at the end of the

latus rectum in the first quadrant.

Watch Video Solution

9x2 + 16y2 = 144

4. (i) Find the equations of the tangents to

, which makes equal intercepts

on the coordinate axes. 

(ii) Find the value of k if 4x + y + k = 0 is a tangent

to the ellipse 

Watch Video Solution

9x2 + 16y2 = 144

x2 + 3y2 = 3

https://dl.doubtnut.com/l/_9Gw0GFZ819Kp
https://dl.doubtnut.com/l/_24mMjt59WOWj


5. Find the equations of the tangents to the

hyperbola  which are (i) parallel

and (ii) perpendicular to the line y = x - 7

Watch Video Solution

3x2 − 4y2 = 12

6. Find the equation of the tangents to the

hyperbola  which are 

Perpendicular to the line 

Watch Video Solution

3x2 − 4y2 = 12

y = x − 7

https://dl.doubtnut.com/l/_24mMjt59WOWj
https://dl.doubtnut.com/l/_aWeQEE1OhCld
https://dl.doubtnut.com/l/_gp306vcnlRjT
https://dl.doubtnut.com/l/_O7ZmyDSoXND8


Section C Iii Long Answer Type Questions

7. Evaluate the following integrals 

(iii) 

Watch Video Solution

∫
0

dx

π

2 1

4 + 5 cos x

8. The solution of

 is

Watch Video Solution

(xy2 + x)dx + (yx2 + y)dy = 0

https://dl.doubtnut.com/l/_O7ZmyDSoXND8
https://dl.doubtnut.com/l/_TFcPsEd6NTV2


1. If (2,0),(0,1),(4,5) and (0,c) are concyclic then find

c.

Watch Video Solution

2. Find the transberes common tangents of 

the circles  and 

 


Watch Video Solution

x2 + y2 − 4x − 10y + 28 = 0

x2 + y2

+4x − 6y + 40.

https://dl.doubtnut.com/l/_7lTPNYkA3Rdo
https://dl.doubtnut.com/l/_ivWsnwCeevuj


3. Evaluate the integerals. 

Watch Video Solution

∫ dx
2 cos x + 3 sinx

4 cos x + 5 sinx

4. Evaluate 

Watch Video Solution

∫tan6 xdx

5. Derive the standard form of the parabola.

Watch Video Solution

https://dl.doubtnut.com/l/_59nZ97HBUgsR
https://dl.doubtnut.com/l/_T7UAXUJEK8Ju
https://dl.doubtnut.com/l/_BkeKwdPrQCat


6. Evaluate 

(i) 

Watch Video Solution

∫
π

0

dx
x sinx

1 + sinx

7. The solution of

 is

Watch Video Solution

(1 + y2)dx = (tan− 1 y − x)dy

https://dl.doubtnut.com/l/_G17AXdvV64iZ
https://dl.doubtnut.com/l/_Kxj6XF9onXP3

